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QUESTION ONE (30 MARKS)

(a) Explain the following terms applied in Programme Evaluation Review Technigue.

(i) activity
(i) event
(6 marks)
(b) (i) Highlight FOUR types of Inventory control applied in Industry
(ii) List TWO advantages of Inventory control
(6 marks)

(c) (i) Describe the term “Two Person- zero sum game” as it is applied in Operations Research
(ii) Define a markov process
(iii)State  TWO properties of the process in C(ii)

(6 marks)
(d)(i) With the aid of a graph, maximize z = X +x,
Subject to

x, +2x,<4
dx, +2x, <12
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(i) Explain the term “unbounded solution space” as it is applied in linear programming

(12 marks)




QUESTION TWO (20 MARKS)

(a)(i) Determine the optimal strategies for company Y and Z from the pay off matrix
in Fig 1.

(il)comment on the results obtained in (a) (1)

( 8 marks)
Z.
I II II
[|-2]14]-2
Y II|-5]|-6]|-4
OI|-6 (20| -8
Fig. 1
(b)Describe the stages of development of a solution in Operations Research .
(12 marks)
QUESTION THREE (20 MARKS)
(a) Highlight THREE types of costs in Inventory control
(9marks)

fZPD
(b) Show that the Economic Order Quantity, EOQ ,Q = T where there is no reserve stock and

P = Preparation or set up cost; 1D = Annual production; // = Holding or Inventory carrying cost
C = Unit cost of material; 0 = Order quantity

(11 marks)




QUESTION FOUR (20 MARKS)

(a) Construct the network for a road construction given the following information in Table 1:

(10 marks)
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(b) Amaintenance crue of TWO Engineers can repair Four Solar Panels per day, where a day is made up
of 8 hours. Determine the probability that the service will be completed in Four hours. Take the service
time distribution to be exponential.

(10 marks)



QUESTION FIVE (20 MARKS)

(i) Determine the Two-step transition matrix

(i) Determine the probability matrix that the s

ystem will be in Mode | at 11.30 am,
mode | at 8.30am

if it was in

( 10 marks)




